2 — F§ — 1017 — 62

B md v R L= ik OB RER AR R

AFn 34 1 H 14 H

TSR BRI X R =
KEFRF I a7V R b= ORZHEETFEICM S 562 H B OB aeii AR i
WDERY THD,
1. E=ZV 7 H—I2 kDO ERR
(1) {H=a—R TR A = — X
(2) FH#A A HEF SF3E 1 H 14 H 09:26 ~ 10:19
(3) ARG R 72 25 ~ 45 nGy/h
2. T=H Y UTRA NI DR OB E RS R
T E A R
(1) FAA AR H &% 34 1 H 13 A 15:00 W &
B 4 3ME 1 H 14 H 15:00
@)/t (15) & 72 24 ~ 30 nGy/h
K 8 ~ 11 cps
NERCAZ DN 7= 17~ 22 nGy/h
WK 25 ~ 30 cps
¥ 2 T (395) J& Zefl] 20 ~ 26 nGy/h
K 7 ~ 10 cps
=8 | &0 (475) J) Z2f#] 28 ~ 34  nGy/h
o K 8 ~ 11 cps
fa|hx W GE) R (=R 17 ~ 24 nGy/h
* K 8 ~ 12 cps
/NITET (675) J&) 72 35 ~ 41 nGy/h
KT (77) J&) 72 36 ~ 42 nGy/h
iR (85) &) 72 20 ~ 26 nGy/h
AEE (95) 5 72 26 ~ 32 nGy/h
HE00E)H 72/ 19 ~ 24 nGy/h
3. K & Wy
4. f§ =

HERERIX, ST2E1LH 131 (&) 12 L7~ AERTFHE OBRIEM/ & F— L ~L T

B D,

ARFRAEFEFNCET 2 G100 TR T BRSSO R ER B et IR ==
EEE - 03-5114-2126 RHAH IR - SEH 10BE~120 130~ 18




